Name __ ‘ » . Block Date
Unit 6: Polynomials REVIEW SHEET (SEMESTER)

o 1.) Find the area of the trapezoid using the formula: 2.) What is the leading coefficient when the produet
Ll 1 : 3 4 [+
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3.) Kathy makes brownies using a square pan that 4.) What is the product of (2x + 3)and (x - 2)7
has side measure of x. She decides she needs a new
pan that has is 6 inches longer on each side, What is ( 2K *33 (X_zb
the area of her new brownie pan? 2 )
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5.) The expression{2x2- 6x\L 4 represents the area | 6.) A square has a side length of 2x — 4. What is the
of a square. The expression{9x 2/ F7x]- 1 represents | difference between the area of the square and the

the area of a rectangle. What 1s the combined area of | perimeter of the square?

the two shapes? Combing. 2%-4 " A(QQS o 3
. ombin 2% K- (2x-q) (2%-4
[1X% + - .
L RS +a —\-\e\;:;s 2%-4 U -BX=-BX +lb
| P=8%x-1 URF-\bX tlo .
(UX? - 1oX +He) = (BX1Q) = |4RZ-244 432
7.) Simplify the expression: 8.) Write an expression equivalent to j::;: ‘
(4x3y2)3 (2x%y®) ifx # 0and y # 0. q
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9.) The perimeter of the triangle below is 7xy? + 10x — 2y. Find the length of the missing side.
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10.) Simplify the expression below:
(4xy2)(3x4y3)
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11.) Find the perimeter of a triangle with the
following side lengths: Combing WKe
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12.) Find the difference:

—7x% +4x+6) (=3x2 + 5x- 1)
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13.) Simpiify the expression below:

3x(4x® — 9x 4 5) - x(7x* +2x-—6)
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14.) Find the product: (r ~ 6)2
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15.) Simplify:
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16.} Simplity: ' & y~t
: (4x + y3)? ‘ 17.) Which expressmn is equlvaient to -5]-;;"9
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18.) What is the coefficient of the x term when the 19.) Simplify: .
expression below is simplified? z 10a*b - 25a%b® — Sab
L
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20.) Write an equivalent expression for the 21.) Simplify: [
monomial below: 12a%b%c 2 02
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22.) Which expression is equivalent to p—7p4 when p
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_23.)
Find the area of the shaded region:
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24.) A rectangular box has dimensions {(x + 6), (x + 2), and (x — 1). Write an expression tltat represents the

volume of the box. - 2
Y (X~ (RZ4+Bx+12)
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25.) Kerry wants to remodel his house by knockifig down a wall between two adjoining rectanguar rooms.
The width of both rooms is x + 4. The length of Room 1 is 3x + 6 and the length of room 2 is (3x — 3). Write
an expression that models the area of the new room after thew all is knocked down.

ik e (ox43)(xH4)
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26,) Find the product: {.) 4 recfapdly
(2x = 5)(x? + x — 3) 4
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28.) David has a rectangle and a right triangle. "
s Thelength of the rectangle is 5 less than its width. w
o The length of the shorter leg of the triangle is equal to the rectangle’s width. (-5
o The length of the longer leg of the triangle is twice the length of the rectangle.

Write a function, f{w), that represents the combined area of the rectangle and triangle.
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